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(B6L:FM)
# B —fRE IIEERE | ABBEIEE & it
I EXFHRZOE

1. FREHIRA
ERMETRIA 520 - - 520
ERBEERRA 520 - - 520
FIRHIRA 142,360 - - 142,360
O EHEERERIA 62,860 - - 62,860
£EFTE b5 FIRBIRA 79,500 - - 79,500
EEEEELRA 704,439 - - 704,439
SERRIRUERIA 15,002 - - 15,002
SEEHXEERIA 1013 - - 1,013
O EHEEEEEERANA 364,677 - - 364,677
EEPE - EBEEBRMA 323,657 - - 323,657
CES T TON 5,017 19,832 - 24,849
SEEHXEERINA 5017 - - 5017
S50 - BRI RILA - 10,080 - 10,080
VRNV EBIRFE B ERA - 9,752 - 9,752
SHRELEINA 23,832 - - 23,832
T T ET N 898 - - 898
WER - EREERIRA 22,934 - - 22,934
BERIA 600 - - 600
BB RS IRA 600 - - 600
#ILA 574 - - 574
ET3 574 - - 574
N ERHRASINA 812 - A 812 -
REEEERHRARRA 812 - A 812 -
BEEBIAG (a) 878,154 19,832 A 812 897,174

2. EXFEYPH
EEEEEEEXH 806,050 - - 806,050
N T F g 16,749 - - 16,749
M ERERERRL Y 1,173 - - 1,173
SEEDREERALY 14,796 - - 14,796
HERRERELY 760 - - 760
EOEHSREBERERERS 399,327 - - 399,327
YT EREEERE Y 373,245 - - 373,245
BEEEAXH 33,597 18,285 - 51,882
FERRRUERAZ 3,880 - - 3,880
SEEHREFRAL 10,940 - - 10,940
BOEHPEEBEEERARY 15,000 - - 15,000
EEPE - EEEEE R 3,777 - - 3,777
FIE EBRAMERA RS - 8,313 - 8,313
LAY BRI R X - 7,178 - 7,178
REEEEBER - 2,794 - 2,794
SRFLEXH 23,075 - - 23,075
FERRREERAZ 898 - - 898
BN S-S EEEE R T 22,177 - - 22,177
EEHXH 53,196 - - 53,196
G2 53,196 - 53,196
—BEHEASXZH - 812 A 812 -
—BRHBAS T - 812 A 812 -
BEERXHH (b) 915,918 19,097 A 812 934,203
BEEHINXELE A 37,764 735 - A 37,029
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(B4 FH)
£ B —fgss InZEBERE | NEEREIEE &
I #|EFEIZOE
1. |EFHIRA
BEEHIAG (c) - - - -
2. BREFREBZH
BESERSXH 812 - - 812
\ﬂmfmﬂlﬁﬁ@x%i& 812 - - 812
EE & EREXH 1,676 - - 1,676
YIRS T FHEAZH 1,197 - - 1,197
HEBHSBAZH 473 - - 473
KR E AR H 6 - - 6
BEEHRHE (d) 2,488 - - 2,488
BEEHINT = A 2488 - - A 2488
I MEFREIZOE
1. BA#&EHIRA
BT EBUNAE (e) - - - -
2. BB EERH
J—RIEH T H 3,148 - - 3,148
[U—zEBE 3,148 - - 3,148
AT EI 5 (f 3,148 - - 3,148
B TS E BN 48 A 3,148 - - A 3,148
V FHEEXH (g) 4,000 - - 4,000
(B4 FM)
B B —fEsEt INZEEERE | NEEREIEE & &t
LHAWASE  (a)+(c)+(e)=(h) 878,154 19,832 A 812 897,174
WHAZ HE (b)+(d)+(H+(g) =(i) 925,554 19,097 A 812 943,839
LHRUN T = 2B (- =G) A 47400 735 - A 46665
RTINS E4E (k) 56,671 47386 - 104,057
REFEHIN T =28 () +(k) 9,271 48,121 - 57,392




